);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA /2-6400104-00001XX

Real02 for No.9363
d=[p(x)=x"+x —x-3,¢=2]
2=[p(x)=x"+4x-3x"-4,c=-1]

1
No0l = .3=[p(x)=8x—9— 10x3+4x2+4x4,c=ﬂ

-1
-4:[p(x)=—l2x+3+3x4+13x3+4x2,c=?}

.Iz[wj):x—LaQJ:mxy+f—2xﬁ
2=[b(x)=x+3,a(x)=x"+3x +m+2x]

No02 = ;3 )
J=[b(x)=2x+1,a(x)=5x+10+8x +mx",r=6]
4=[b(x)=x—-m,a(x)=x"+2x-37,r=-2]
| d=[p(x)=x—2x"—x+2] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"+27]
NoO3 4=[p(x)=x"-16]

S=[p(x)=x"-2x-9x"+16x—-6]
GH=[p(x)=x"+3x —13x* =27 x +36]
J=[p(x)=15x=37x* =23 x-3]

4 3 2
LE8=[p(x)=8x +14x -3 x" —14x—-5]
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXKXXXKXKXKXKXMA /2-6400104-00002XX

Real02 for No.9435
d=[p(x)=x'+x—4x—-1,¢=2]
2=[p(x)=x'+4x -5x-2,¢=-3]

4
No01 = .3=[p(x)=21x—14+6x4—8x3—9x2,c=§}

2

-1
.4:[p(x):4x3+10x2+4x+1,c:—J

.1:[Mx)zx—3,ﬂx)=x4—3x?+mx+9]

2=[b(x)=x+Lax)=x"+mx"+4x+8]

3=[b(x)=x-m,a(x)=x"+5x—13,r=-7]
4=[b(x)=2x+5,a(x)=6x"+23xX +20x" +m, r=2]

No()2 =

d=[p(x)=x=5x"—x+5]
2=[p(x)=x"—25x"+144]
3=[p(x)=x+1]
4=[p(x)=x"-16]
.5:[mﬁ):x4+7x3—xz—67x—60]
H=[p(x)=x"+2x -8x" = 19x—-6]
T=[p(x)=10x+3x*-6x+1]

4 3 2
L8=[p(x)=6x +25x"+20x"—5x—-6]]
PO0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.04

No03 =

X [Page = 0001]



)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXMAE /2-6400104-00003XX
Real02 for No.9484

d=[p(x)=x"-3x-x+1,¢=3]
2=[p(x)=x"+2x"=3x-2,c=-2]

-1
No0l = .3:[p(x):6x+7+3x4+13x3+4x2,c:;}

5
.4=[p(x)=8x4—18x3—5x2+4x—3,c=5}

.]=[b(x):x+3,a(x):mx3+x4—4x2— 18]
2=[b(x)=x-2,a(x)=x"—2x"+m+2x]

No02 = 4 N
J=[b(x)=3x+2,a(x)=6+12x +8x +mx,r=2]
4=[b(x)=x-m,a(x)=x"+7x+19,r=7]
I d=[p(x)=x+5x"—9x—45] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"+27]
NoO3 — 4=[p(x)=x"—625]

S=[p(x)=x"-17x"=20x+12]
G6=[p(x)=x"+7x +2x" =28 x—24]
T=[p(x)=8x+6x"—17x+6]

L8=[p(x)=12x"-29x =12 +39x+ 10]_
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00004XX
Real02 for No.9503

d=[p(x)=x"-x+4x*-4,¢c=2]
2=[p(x)=x"+5x"—4x+3,c=-1]

4
NoOIl=| .3=|p(x)= 19x—5—2ox2+6x3,c=ﬂ

5
.4:{p(x):8x4+20x3+6x+ 17,c=ﬂ

.]:[b(x)=x+3,a(x)=x4+mx2+3x3—5x—15]
2=[b(x)=x-La(x)=x"-2x"+m+3x]

No02 = ) ;
J=[b(x)=3x-5,a(x)=19x—-12-21x"+mx",r=3]
A4=[b(x)=x—m, a(x):x2+8x+ 13,7r=6]
| d=[p(x)=x=5x"—x+5] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+125]
No03 - 4=[p(x)=x"-81]

S=[p(x)=x"-33x"-28x+60]
GH=[p(x)=x"+2x"-3x"+2x+6]
J=[p(x)=15x +4x* =29 x+10]

4 3 2
L8=[p(x)=16x"—-40x" -3 x"+43x—-10]]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKXXXKKXKXKKXKKXKKKKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXKXKXME /2-6400104-00005XX
Real02 for No.9630

d=[p(x)=x"—4x+4x>+3,c=3] |
2=[p(x)=x"+3x"—x+4,c=-1]

-5
No0l = .3:[p(x):2x4+5x3—2x—4,c:;}

5
.4=[p(x)=9x2—15x—2,c=§}

A=[b(x)=x-2, a(x):x4+x3+mx— 14]
2=[b(x)=x+Lax)=x"+5x"+m+4x]

No02 = ) 3
d=[bx)=3x-2,a(x)=12x"+x—-T+mx",r=-1]
4=[b(x)=x—m,a(x)=x"—11x+26, r=-4]
= [px)=xX+3x—4x-12] |
2=[p(x)=x"—34x"+225]
3=[p(x)=x"-38]
NoO3 4=[p(x)=x"-16]

S=[px)=x"-4x —6x"+11x-2]
G6=[p(x)=x"+3x -7x"=27x-18]
T=[p(x)=10x —=x* - 17x - 6]

L 8=[p(x)=20x"-23x"-91x*=57x-9]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00006XX
Real02 for No.9647

d=[p(x)=x"-3x"+x-1,c=3]
2=[p(x)=x"-3x"-4x"-4,c=-2]

-3
No0l = 3= p(x)=6x3—9x2+8x4—5,c=5}

5
.4:[p(x):—6x2+7x+3x4—5x3+IO,C:EJ

d=[b(x)=x-1,a(x)=x"+mx’—x+3]
2=[b(x)=x+2,a(x)=x"—2x"+m—4x]
3=[b(x)=2x-3,a(x)=4x"+10x" - 15 -2+ mx, r=-2]
A=[b(x)=x—m,a(x)=x"+11x+31,r=1]
[ I=[px)=x'+3¢—4x—12] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+64]
4=[p(x)=x"-625]
S=[p(x)=x'+12x +39x" +8x—60]
GH=[p(x)=x"+x —15x"+7x+6]
7=[p(x)=10x" +7x =21 x— 18]

4 3 2
|L8=[p(x)=20x"+81 x>+ 107 x> + 54 x + 8]
X [Page = 0003] XXXXXXXXXXXXXXXKXXXXXXKXKXXXKXXKXKXKXXKKKXKXXXKXKKXLXKXXKXKKXKXKXKXXKKKKXKXKKKKXKKXK

No02 =

No03 =




X

Real02 for No.9779

No0l

No02 =

Real02 for No.10293

No0l =

No02 =
3=

No03 =

[Page = 0004]

4
NolO3 — A=[p(x)=x —16]

d=[p(x)=x"+2x"—4x+2,c=1]
2=[p(x)=x"-3x"—4x-2,c=-2]

A=[b(x)=x+2, a(x):x4+mx—4x2— 10]
2=[b(x)=x-3,a(x)=x"-3xX+m+5x]

3
=|.3= p(x):—2x+9+10x4—7x3—12x2,c:—}

-4
.4=[p(x)=—6x2—8x+3x4+4x3—3,c=?}

);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA /2-6400104-00007XX

.3:[b(x):2x—l,a(x):4x3—7x—4+mx2,r:—7]

4=[b(x)=x-m,a(x)=x"+11x+30,r=2]

I =[p(x)=x-5x"—16x+80] |

2=[p(x)=x"—17x"+16]
3=[p(x)=x—1]

S=[p(x)=x"—4x"—13x" + 64 x - 48]
G6=[p(x)=x"+x —4x +5x-3]
T=[p(x)=6x —x"—12x—5]
L8=[p(x)=10x"-37x+12x* +49 x - 10]]

d=[p(x)=x"-3x"+4x+4,c=2]
2=[p(x)=x"+5x+x"=3,c=-1]

3
3= p(x)=—8x—1—8x2+8x4+12x3,c=—}

3

2
.4={p(x)=3x4—2x3—12x2—x+4,c:—}

A =[b(x)=x-2, a(x)=x4—5x3+m+4x]
2=[b(x)=x+3,ax)=x"+xX +mx—-5x"-9]

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKM4L /2-6400104-00008XX

[b(x)=3x+5,a(x)=-15"+6x" -3 +mx’,r=-3]

.4:[b(x):x—m,a(x):x2—5x+7,r:3]
J=[p(x)=x -3 - 16x+48] |
2=[p(x)=x"-25x"+144]
3=[p(x)=x"—64]
4=[p(x)=x"-625]
S=[p(x)=x'+7x+2x" - 28 x - 24]
6=[p(x)=x"-18x"-25x+6]
T=[p(x)=15x -29x" —4x +4]
L8=[p(x)=20x"+7x" ~ 116 x* + 119 x - 30]]

),0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9.:9.0:9:9.0:9:9.0:9.:0.0:0.:9.0,9:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:¢



)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00009XX
Real02 for No.10311

.]:[p(x):x4—5x2+x—1,c:l]
2=[p(x)=x"-5x+2x+1,c=-2]

2
No0l = ,3:|:p(x):9x4+6x3+3x2+2x+2,c:?J

1
.4=[p(x)=2x2+5x+2x4—x3—7,C=EJ

.]:[b(x):x+2,a(x):x4+mx+2x2—16]
2=[b(x)=x-3,a(x)=x'+mx’=3x +5x—15]

No(2 = 5
J=[b(x)=x-m,a(x)=x"+2x-31,r=-7]
4=[b(x)=3x+2,a(x)=12x"+8X +3x+m, r=-6]
I I=[p(x)=x-4x"—4x+16] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+27]
NoO3 — 4=[p(x)=x"-256]

S=[px)=x"+3x -2x" - 12x-8]
G6=[p(x)=x"-x —12x"+ 14x+12]
7=[p(x)=9x —19x—-10]

L.8=[p(x)=20x"—9x 40 x> +9x+20]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/2-6400104-00010XX
Real02 for No.10438

d=[p(x)=x"-3x+2x+1,¢c=3]
2=[px)=x"+2x -4x"+2,c=-1]

1
NoOI =|.3= p(x)=16x—3—13x2+3x3,c=ﬂ

-1
.4:[p(x): 10x4+7x3+x2+3,c:z}

.]:[b(x)=x+3,a(x):x4+3x3+mx—12]
2=[b(x)=x-2,a(x)=x"-2x +3x" +m]

No(2 = ) 3
I=[b(x)=3x+2,a(x)=2x"—-12x—-12+mx", r=-4]
.4:[b(x):x—m,a(x):x2+3x—S,r:—7]
 I=[p(x)=x—4x"—25x+100] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x"+38]
No03 - 4=[p(x)=x"—1]

S=[p(x)=x"+11x +42x" + 64 x +32]
GH=[p(x)=x"+6xX+4x-9x-2]
T=[p(x)=6x+13x*—4x—15]

4 3 2
LE=[p(x)=15x"+19x =29x" - 11 x+6]]
X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXKXXKXXKXKXKXKKXKKKKXKKXKKKKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00011XX
Real02 for No.11352

d=[p(x)=x"-4x+x"+5,¢=3]
2=[p(x)=x'"-4x"—2x-1,c=-1]

-5
NoOI = ,3:[p(x):6x4+10x3+12x2+29x+ 18,c=ﬂ

3
.4={p(x)=—4x+11+2x3—3x2,c=5}

.]:[b(x):x—3,a(x):x4—4x3+mx+ 15]
2=[b(x)=x+ 1,a(x)=mx3+x4—2x2+3x+4]

No(2 = )
d=[b(x)=2x+1,a(x)=2x"+7x+m,r=-3]
L .4=[b(x):x—m,a(x)=x2—x—13,r:-1]
= [p(x)=x-3x"-25x+75] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"—64]
NoO3 4=[p(x)=x"—625]

S=[px)=x"+7x +2x" =28 x—-24]
H=[p(x)=x"+7xX+9x - 11x—-6]
J=[p(x)=15x +44x>+20x - 16]

| 8=[p(x)=8x"=34x+13x*+61 x—30]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00012XX
Real02 for No.11778

.]:[p(x):x4+x3—x2—5,c=2]
2=[p(x)=x"-3x"=5x-4,c=-1]

-1
NoOI =| 3= p(x):1ox4+5x3+6x2+3x+1,c=ﬂ

2
-4={p(x):—9x+11+15x4—4x3_4x2,c:§}

.]:[b(x):x—l,a(x):x4—3x3+4x2+m]
2=[b(x)=x+2,a(x)=x"+mx +3x +3x+ 14]
3=[b(x)=x-m,a(x)=x"=5x—1,r=-5]
4=[b(x)=2x-3,a(x)=8x— 18+ 12x>+10x* +mx’, r=-6]
I d=[p(x)=x+2x"=25x-50] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x"+38]
4=[p(x)=x"-256]
S=[px)=x"-3x"-9x"+25x-6]
GH=[p(x)=x"—4x—15x>+58 x - 40]
T=[p(x)=15x" =31 x" +4]

4 3 2
L.8=[p(x)=20x"+37x"—100x"—99 x — 18]
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKXKXKKXKXKKXKKXKKKXKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00013XX
Real02 for No.12403

d=[p(x)=x"-x"—4x"+1,c=3]
2=[p(x)=x"-x*+5x-4,c=-1]

5
No0l = .3=[p(x)= 18x—1 —24x2+9x3,c=ﬂ

-3
.4=[p(x)=6x3—9x2+8x4—2x—9,c=3J

A =[b(x)=x+2, a(x):x4+mx—2x2]
2=[b(x)=x-3,a(x)=x"-2x +m-4x]

No02 = 5
d=[bx)=x-m,a(x)=x"+Tx+3,r=-7]
4=[b(x)=3x-2,a(x)=12x"+x—12+mx, r=-6]
I d=[p(x)=x+3x"—4x-12] |
2=[p(x)=x"—20x"+64]
3=[p(x)=x"+27]
NoO3 — A=[p(x)=x"-1]

S=[p(x)=x"+9x +27x*+29x +6]
6=[p(x)=x"—11x+41x" - 61 x+30]
T=[p(x)=20x+57x>+37x+6]

L8=[p(x)=12x"+37x - 14— 47 x + 12].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00014XX
Real02 for No.1l2456

d=[px)=x"+5x"+2x-1,c=1]
2=[p(x)=x"+3x +4x"=5,c=-2]

-1
NoOI =| 3= p(x)=12x—1+9x3+3x2,c=?:|

1
.4:{p(x):—5x3+x2+6x4—8x—1,025}

Ad=[b(x)=x+ 1,a(x)=x4+mx2—x3—4]
2=[b(x)=x-2,a(x)=mx +x" +x+ 14]

No02 = )
J=[b(x)=x-m,a(x)=x"—-8x+7,r=-5]
4=[b(x)=3x—-4,a(x)=-17x" - 18+ 6xX +mx, r=-2]
I d=[p(x)=x+2x"=25x-50] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x"-38]
No03 - 4=[p(x)=x"-625]

S=[p(x)=x"+11x +41x" + 61 x+30]
GH=[p(x)=x"+2x" +x"—4]
7=[p(x)=20x" =19 x" =31 x+30]

4 3 2
L.8=[p(x)=10x"—61x"+109x" —36x—36]]
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKXKXKKXKXKKXKKXKKKKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00015XX
Real02 for No.12545

d=[p(x)=x"-3x"+x+3,c=3]
2=[p(x)=x"-4x —x—4,c=-2]

-5
No0l = .3=[p(x)=2x2+9x+6x4+15x3+9,c=ﬂ

2
.4=[p(x)=3x4—2x3—6x+1,c=g}

.]:[b(x):x+l,a(x):mx3+x4—3x2+3x+5]
2=[b(x)=x-3,a(x)=x'-3x +mx+12]

No(2 = 5
d=[bx)=x-m,a(x)=x"+2x+4,r="T]
4=[b(x)=2x-3,a(x)=6x+4x —6x"+m,r=7]
| d=[p(x)=x+x~9x-9] |
2=[p(x)=x"—20x"+64]
3=[p(x)=x"—125]
NoO3 - A=[p(x)=x"-1]

S=[px)=x"-4x +3x"-4x+12]
6=[p(x)=x"-8x"+7x+36x—36]
J=[p(x)=12x-43 x> +42x - 8]

| 8=[p(x)=10x"—3x 44’ + 12 x+16]]

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00016XX
Real02 for No.12583

.]:[p(x):x4—x2—5x+2,c:1]
2=[p(x)=x"+3x —x+4,c=-3]

-1
No0OI =| .3 = p(x):6x4+3x3+4x2+2x+7,c:5:'

2
.4=[p(x)=3x2+6x—14+9x3,c=ﬂ

A =[b(x)=x-2, a(x)=x4—4x2+m—3x]
2=[b(x)=x+3,ax)=x"+2xX +mx—4x"+9]
3=[b(x)=3x=5,a(x)=—-6x+6-21xX +9x* + mx’, r=-4]
A4=[b(x)=x—m, a(x):x2—3x—25,r:3]

d=[p(x)=x—4x*-9x+36] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"—8]
4=[p(x)=x"-16]
S=[p(x)=x"—11x +32x" -4 x - 48]
H=[p(x)=x"+3x —4x" - 10x—4]
T=[p(x)=6x"+29x>+46 x +24]

4 3 2
L8=[p(x)=10x"—-13x"—13x"+ 13 x+3]]
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXKXXKXXKXKXKXKKXKXKKXKKXKKXKXKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00017XX
Real02 for No.12589

d=[p(x)=x"-3x"+2x+4,c=2]
2=[px)=x'-x"—4x"=2,¢=-1]

3
NoOI = .3=[p(x):—2x—11+4x2+2x4—3x3,c=ﬂ

-2
.4={p(x)=5x3—2x2+12x4—4,c=;}

A=[b(x)=x- l,a(x):x4+mx+4x2— 10]
2=[b(x)=x+3,a(x)=x"+3x +m+x]

No(2 = ,
d=[bx)=x-m,a(x)=x"+4x+1,r=-2]
4=[b(x)=3x-1la(x)=2x"+6x"—=T+mx’, r=-7]
= [p(x)=x-3x"-25x+75] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"—64]
NoO3 — A=[p(x)=x"-1]

S=[p(x)=x"+6x+12x>+9x+2]
6=[p(x)=x"-8x+17x*+2x—-24]
J=[p(x)=6x =31x"+50x—25]

L8=[p(x)=10x"—3x-41x*-33x-5]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00018XX
Real02 for No.12596

d=[p(x)=x"-4x"+2x+3,c=1]
2=[p(x)=x'-5x"+4x-4,c=-3]

-1
NoOl =| 3=|p(x)=-Tx+1- 12x2+3x4+x3,c:;}

1
-4=[P(X)=10x4—5x3—6x2+3x—5,c:5}

A =[b(x)=x-2, a(x)=x4—3x3+m+5x]
2=[b(x)=x+ 1,a(x)=mx3+x4+5x2+5x—l]
3=[b(x)=x-—m,a(x)=x"—Tx+16,r=6]
4=[b(x)=2x— l,a(x):—S+6x4—3x3—2x2+mx,r:—4]
I d=[p(x)=x—2x—x+2] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+38]
4=[p(x)=x"-625]
S=[p(x)=x"-5x"+20x-16]
G6=[p(x)=x"-11x"+4x+6]
T=[p(x)=10x +43 x +43 x + 12]

4 3 2
L8=[p(x)=8x"+22x* +3x* =23 x— 10]_
X [Page = 0009] XXXXXXXXXXKXXXXXXXXXXXKXKXXXKXXKXKXKXKKXKXKXKXXXKXKKXKXKXXKXKKXKXKXKXXKKXKKXKXKKKKKKXK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00019XX
Real02 for No.12620

d=[p(x)=x"-x+3x+5,c=1]
2=[p(x)=x"+3x+5x"=2,c=-2]

)
NoOI = .3:[p(x):9x3+15x2+6x—7,c:?J

3
.4={p(x)=—13x2+6x3+6,c=5}

.]:[b(x):x—2,a(x):x4+mx2—2x+8]
2=[b(x)=x+ l,a(x):x4+x3+5x2+m]
3=[b(x)=2x+3,a(x)=6x"+11x+2x "+ 1 +mx’, r=-2]
.4:[b(x):x—m,a(x)=x2—x—l,rzl]
= [px)=x—4x"-9x+36] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—1]
4=[p(x)=x"-81]
S=[px)=x"-2x"-11x*—4x+4]
6=[p(x)=x"=5x"—6x"+32x+32]
J=[p(x)=8x"=30x"+37x—15]

L8=[p(x)=15x"+2x" =39 =2 x +24]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00020XX
Real02 for No.12651

No02 =

No03 =

d=[p(x)=x"-5x+4x"+1,c=3]
2=[p(x)=x"-4x"+3x+1,c=-2]

-1
NoOl =|.3 = p(x):—éx—10+9x2+6x4+2x3,c=ﬂ

1
.4:[p(x):8x4—4x3+6x2—x+l,c:EJ

.]:[b(x):x+3,a(x):x4+4x3+mx+4x2—9]
2=[b(x)=x—1lLa(x)=mx +x" +x - 6]
3=[b(x)=x-—m,a(x)=x"—4x—11,r=-6]
4=[b(x)=2x— l,a(x):—6x+8x2+10x4—5x3+m,r:—2]
= [p(x)=x-2x—16x+32] |
2=[p(x)=x"=34x"+225]
3=[p(x)=x"-1]
4=[p(x)=x"-256]
S=[px)=x"-x -12x"+ 14x+12]
.6=[p(x):x4—4x3—x2+ 16 x—-12]
7=[p(x)=20x-39x"+13x+6]

4 3 2
L8=[p(x)=6x —13x" =21 x"+48x—-20]]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKKXKKXKXKKXKKXKKKXKXKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00021XX
Real02 for No.12675

d=[p(x)=x"-4x+5x+4,c=1]
2=[p(x)=x"+3x"+3x-3,c=-3]

-5
No0I =|.3= p(x)=—4x+14—6x2+12x4+2ox3,c=ﬂ

5
.4={p(x)=—16x—16+8x2,c=ﬂ

A=[b(x)=x- l,a(x):x4+mx2+5x3— 10]
2=[b(x)=x+3,a(x)=mx +x' =5x" +5x-21]

No02 = 4 3
J=[b(x)=3x—-1,a(x)=3x —x" +6+mx,r=>5]
.4:[b(x):x—m,a(x):x2—5x—17,r:-3]
C I=[p(x)=x"+2x-25x-50] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+38]
NoO3 4=[p(x)=x"-16]

S=[p(x)=x"-x"+4x-4]
6=[p(x)=x"-3x"—14x>+48 x - 32]
J=[p(x)=15x"-58x>+41 x - 6]

| 8=[p(x)=20x"—17x"=52x*+3 x+ 18]}

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00022XX
Real02 for No.12684

d=[p(x)=x"+5x+4x"-4,¢c=1]
2=[p(x)=x"+2x"+3x-3,c=-3]

-4
NoOI =| 3= p(x)=3x3+10x2+14x+11,c=?:|

1
.4=[p(x)=4x4+6x3—4x2+2x+3,c:ﬂ

.1=[b(x):x—Z,a(x)=mx3+x4—2x2—x—6]
_ _ _ 4 2 3
No02 — 2=[b(x)=x+3,a(x)=x +2mx +3x +x+3]
J=[b(x)=x-m,a(x)=x"-5x—-1,r=5]
.4:[b(x):Zx—3,a(x):—15x2+9x+6x3+m,r=4]
I=[p(x)=x+2x"—16x-32]
2=[p(x)=x"-10x"+9]
3=[p(x)=x+64]
— — 4_
No03 = A=[p(x)=x —-16]

S=[p(x)=x"+6x"+13x*+16x+12]
6=[p(x)=x"=3x"—24x>+28 x + 48]
T=[p(x)=9x +18x*+5x—4]

4 3 2
L8=[p(x)=6x —11x"=32x"+21 x+36]]
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXXKXXKXXKXKXKXKKXKXKKXKKXKKXKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00023XX
Real02 for No.12693

d=[p(x)=x"-5x"-2x-1,c=1]
2=[p(x)=x"+4x’+4x"—4,c=-3]

1
No0l = .3={p(x)=—1ox2+x—4+8x3,c:g}

-5
.4=[p(x)=14x3—10x2+12x4—3x—1o,c=ﬂ

.]:[b(x):x—3,a(x):x4+mx2—2x3+9]
2=[b(x)=x+Lax)=mx +x'=3x-3]

No02 = )
d=[bx)=x-m,a(x)=x"+T7x+16,r=4]
4=[b(x)=2x+3,a(x)=8x +20x>+ 12x+m, r=-2]
= [px)=x-5x"—4x+20] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+38]
NoO3 — 4=[p(x)=x"-625]

S=[px)=x"-5x+8x"-7x+3]
H=[p(x)=x"-9x"+21x* +x-30]
T=[p(x)=6x—13x"+9x-2]

L8=[p(x)=9x"—18x =13 x>+ 30 x— 8]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXME /2-6400104-00024XX
Real02 for No.12705

d=[p(x)=x"-3x"-2x+4,c=2]
2=[p(x)=x"+3x-2x"=1,¢c=-3]

-5
NoOI =|.3 = p(x)=8x4+22x3+5x2+4x+15,c=z:|

2
.4=[p(x)=6x+1+12x3—8x2,c=ﬂ

.]:[b(x)zx—l,a(x):x4+3x3+m+x]
2=[b(x)=x+2,a(x)=x"+2xX +mx+3x - 12]

No02 = X )
J=[b(x)=3x-2,a(x)=3x+x—-12+mx",r=-6]
.4:[b(x):x—m,a(x):x2—2x—2,r:1]
= [p(x)=x"+5x—16x-80] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"—1]
No03 - 4=[p(x)=x"-625]

S=[px)=x"+x —17x" =21 x+36]
GH=[p(x)=x"+9x"+28x*+34x+12]
7=[p(x)=10x=19x*=30x-9]

4 3 2
LE8=[p(x)=15x" -52x +7x" +50x—24]]
X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKXKXXKXKXKXKKXKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00025XX
Real02 for No.12708

d=[p(x)=x"-4x"-5x-5,c=1]
2=[p(x)=x"+3x+3x-2,c=-3]

3
No0l = .3=[p(x)=10x4—15x3+4x—4,c=ﬂ

-1
.4=[p(x)=12x+1+3x4+x3,c=;}

.]:[b(x):x—3,a(x):x4+mx2—3x3+2x—6]
2=[b(x)=x+2,a(x)=mx +x" —x*—2x-16]

No02 = 4 ;3
J=[b(x)=3x—-1l,a(x)=-3x+6x -2x +m,r=7]
4=[b(x)=x-m,a(x)=x"—8x+17,r=5]
= [p(x)=x—5x"-9x+45] |
2=[p(x)=x"—17x"+16]
3=[p(x)=x"—64]
NoO3 - A=[p(x)=x"-1]

S=[p(x)=x"+6x+12x>+9x+2]
G6=[p(x)=x"+x —19x"—49x—30]
J=[p(x)=12x=29x> =31 x+30]

| 8=[p(x)=9x"+27x +11x* =27 x-20]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00026XX
Real02 for No.12709

.]:[p(x):x4—x3+x2— l,c=2]
2=[p(x)=x"-x"=3x+4,c=-1]

4
NoOI =|.3= p(x):15x—8+12x4—16x3—9x2,c=ﬂ

-5
.4:[p(x):10x4+25x3—2x—IO,CZEJ

.]:[b(x):x—l,a(x):mx3+x4—4x2—1]
2=[b(x)=x+2,a(x)=x"+mx"+2x—4]

No(2 = 4 3 5
JI=[b(x)=3x+2,a(x)=9x +6x —12x" +mx,r=-6]
.4:[b(x):x—m,a(x):x2—8x+ll,r:—4]
| d=[p(x)=x=3x"=25x+75] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x+1]
No03 - 4=[p(x)=x"-256]

S=[p(x)=x"—10x +33x"—40x + 12]
H=[p(x)=x"+6x +x"=24x-20]
J=[p(x)=15x =41 x* + 10 x + 24]

4 3 2
| 8=[p(x)=10x* =57 + 114 x* = 92 x + 24].
X [Page = 0013] XXXXXXXXXXKXXXXXKXXXXXXXKXXXXXKXKXXXKKKXKXXXKXKKXKXXXKXKKXKXKXXKKKKKXKKKKKKKXK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00027XX
Real02 for No.12718

d=[p(x)=x"-2x"-5x-2,c=3]
2=[p(x)=x'"-2x"-3x-2,c=-1]

-2
No0l = ,3:[p(x):12x4+8x3—6x2—4x—6,c:;}

1
.4=[p(x)=9x+3—5x2+6x3,c=5}

d=[b(x)=x—- l,a(x):mx3+x4+3x2—7]
2=[b(x)=x+2,a(x)=x'—x + mx—16]
3=[b(x)=2x+1l,a(x)=4x"+4x —8x+2+mx’, r=6]
4=[b(x)=x-m,a(x)=x"+Tx+6,r=-6]
 I=[p(x)=x-x*-25x+25] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"—64]
4=[p(x)=x"-625]
S=[p(x)=x"-10X+17x"+52x-60]
G6=[p(x)=x"—10x+32x"=35x+6]
T=[p(x)=6x +25x"+23x+6]

| 8=[p(x)=15x"-64x"+73x* —4x-12]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00028XX
Real02 for No.12720

No02 =

No03 =

d=[px)=x"+x"+2x-2,c=1]
2=[p(x)=x"+5x+5x"+3,c=-3]

1
NoOI =|.3= p(x)=4x—8—1ox3+3x2+8x4,c=ﬂ

-1
.4:{p(x):6x—6x3—3x2+9x4,c=;}

.]=[b(x):x—3,a(x)=mx3+x4—3x+9]
2=[b(x)=x+Lax)=x"-3x+mx—-5x"+1]
3=[b(x)=x—m,a(x)=x"+12x+40,r=5]
4=[b(x)=2x+3,a(x)=4x"+6x - 11x-9+mx’, r=-6]
I d=[p(x)=x+3x"—x—3] |
2=[p(x)=x"=34x"+225]
3=[p(x)=x-27]
4=[p(x)=x"-1]
.5:[p(x):x4—2x3—x+2]
GH=[p(x)=x"+2x=31x"-92x-60]
T=[p(x)=6x—7x"—28x+20]

4 3 2
L8=[p(x)=12x"+13x* - 24x* =3 x+2].
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXKXKXKXXXXKXKXKXXKXKKXKXXXKXKXKXKXKXXKXKKXKXKXKXXKKKKXKXKKKK KKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00029XX
Real02 for No.1l2726

d=[p(x)=x"-3x"=5x"-4,¢c=1]
2=[p(x)=x"+4x+4x +1,c=-3]

-3
No0l = .3=[p(x)=2x4+3x3—6x—10,c=ﬂ

2
.4=[p(x)=6x4—x3—2x2—12x+11,C=EJ

A=[b(x)=x-2, a(x):mx3+x4—3x2+4x— 12]
2=[b(x)=x+3,a(x)=x"+3x +mx+12]
J3=[b(x)=2x+ l,a(x):—4x3—4x2+8x4+2x+m,r:—5]
4=[b(x)=x—-m,a(x)=x"+8x+18,r=3]
I d=[p(x)=x-2x—x+2] |
2=[p(x)=x"—17x"+16]
3=[p(x)=x"+27]
4=[p(x)=x"-625]
S=[px)=x"+4x -9x" - 16 x+20]
H=[p(x)=x"-x -9x"-5x+2]
7=[p(x)=20x"-19x> =47 x+10]

| 8=[p(x)=6x"+11x=50x"-99 x—36]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00030XX
Real02 for No.12758

No02 =

No03 =

d=[p(x)=x"-5x"—4x-4,c=3]
2=[p(x)=x"+2x+2x-2,¢c=-2]

-5
NoOI =|.3= p(x)=—12x—27+22x3—5x2+15x4,c=ﬂ

5
.4:{p(x):—24x3+ 10x2+8x4—3,c=ﬂ

.1:[b(x)zx—3,a(x):mx3+x4+x2+ 18]
2=[b(x)=x+2,ax)=x"+xX +mx+x" —12]
3=[b(x)=3x—-2,a(x)=—6x+8+15x" =10 + mx’, r=4]
A4=[b(x)=x—m, a(x):x2—2x—30,r:5]
 I=[p(x)=x"+4x —25x—100] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x—125]
4=[p(x)=x"-16]
S=[px)=x"-x-19x" = 11x+30]
G6=[p(x)=x"-4x+6x"-5x+2]
T=[p(x)=15x+28x"=5x—-2]

4 3 2
L8=[p(x)=15x"+13x - 13x" - 13x-2]]
X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKXKXXKXKXKXKKXKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXXXXXXXXKXME /2-6400104-00031XX
Real02 for No.13127

d=[p(x)=x"—4x+2x"~4,¢c=3] |
2=[p(x)=x"-2x"+4x+5c=-1]

1
No0l = .3=[p(x)=15x4+7x3—4x2+4,c=ﬂ

-1
.4={p(x)=4x3+8x2+3x+5,c=5}

A =[b(x)=x-2, a(x):x4+mx2+5x—6]
2=[b(x)=x+Lax)=mx +x'+4x+1]
3=[b(x)=3x-5,a(x)=-32x 420"+ 12x" +3+mx, r=-2]
A=[b(x)=x—m, a(x):x2+x—38,r:4]
d=[p(x)=x X" —dx+4] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+8]
4=[p(x)=x"-16]
S=[px)=x"-x=19x"+49x-30]
G6=[p(x)=x"+2x —4x-5x-6]
T=[p(x)=6x"+x"—47x-30]

| 8=[p(x)=9x"+69x° +175x* + 159 x + 36
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00032XX
Real02 for No.13628

No02 =

No03 =

d=[p(x)=x"-2x"-3x-5,c=3]
2=[p(x)=x"-5x"+5x-3,c=-2]

-5
NoOl=| 3= p(x)=7x2—20x+6x3—1,c=3:|

1
.4:{p(x):—6x—2—4x3+x2+3x4,c=g}

A=[b(x)=x- 1,a(x)=x4+mx2+x3+2]
2=[b(x)=x+2,a(x)=x"+x + mx— 14]

No(2 = ; )
3=[b(x)=3x+1,a(x)=9x +15x +16x+m,r=-6]
.4:[b(x):x—m,a(x):x2+2x—19,r:5]
= [p(x)=x"+3x-25x-75] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"+125]
No03 — 4=[p(x)=x"—1]

S=[px)=x"-2x"-31x*+92x-60]
GH=[p(x)=x"=7x +18x* =22 x+12]
T=[p(x)=6x+25x"+32x+12]

4 3 2
L8=[p(x)=8x"-38x>+49x> 22 x +3].
X [Page = 0016] XXXXXXXXXXKXXXXXKXXXXXXKXKXKXXXXKXKXKXXKXKKXKXXXKXKKXKXKXXKXKKXKXKXXXKKKKXKXKKKKXKKXK




):9:9.9.9:9:9.9.0.0:0:0:9.9.9.9.9.9.9.9.0:0.9.:9.9.9.9.9.9.0.0.0:0:0:0.9.9.9.9.9.9.0.0.0:0:0.9.9.9.9.0.0.0.0.0:0.:0.:9.9.9.9.9.9.9.0.0.0.0.9.9.9.9.9.0.0.0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00033XX
Real02 for No.13652
d=[p(x)=x"-3x"+4x+1,c=1]
2=[p(x)=x"+5x+3x"+1,c=-2]
NoOI =|.3= p(x)=—9x+11—22x3+8x2+12x4,c:ﬂ
3 2 4 -5
p(x)=14x —15x"+8x —2x—7,c=z

o
.]:[b(x):x+l,a(x):mx3+x4+3x]
2=[b(x)=x-3,a(x)=x"—4x +x"+m]
.3:[b(x):2x—5,a(x):23+2x4—3x3—5x2+mx,r:3]
.4:[b(x):x—m,a(x)zxz—x—S,r:7]
 I=[p(x)=x"+5x"-9x—-45] ]
2=[p(x)=x"—34x"+225]
3=[p(x)=x"—64]
NoO3 - .4=4[p(x>3=x4—§1]
S=[p(x)=x -5x —-16x"+68x—48]
G6=[p(x)=x"+5x+3x-Tx-2]
7=[p(x)=10x =23 x> =20 x - 3]
| 8=[p(x)=6x"+17x -Tx*—13x-3]]

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXKM4L /2-6400104-00034XX

No02 =

Real02 for No.13707
d=[p(x)=x"-3x"=x"+2,¢=3]
2=[p(x)=x"-4x=3x-3,c=-1]
NoOI =|.3= p(x):12x4—2ox3+9x2—6x—12,c=ﬂ
4 3 -1
p(x)=4x"+2x —l,c:z

N

.]:[b(x)=x+3,a(x):mx3+x4—4x+15]
2=[b(x)=x-Lax)=x"+2xX +mx—1]
3=[b(x)=2x-3,a(x)=—-12xX +4x +4x-9+mx’, r=-3]
.4:[b(x):x—m,a(x):x2—10x+18,r:—6]
| d=[p(x)=x-3x—x+3] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x+1]
No03 - .4j[p(x)3:x4—126]
S=[px)=x"+11x+35x"+13x-60]
G6=[p(x)=x"+3x -5x"-9x-2]
J=[p(x)=15x+16 x* - 36 x — 16]

4 3 2
L.8=[p(x)=10x"+37x =28 x" =157 x—-30]]
00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.04

No(2 =

X [Page = 0017]




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXKXMAL /2-6400104-00035XX
Real02 for No.644201

d=[p(x)=x"-4x+3x"=3,c=3]
2=[p(x)=x"+5x+2x"+3,c=-2]

5
No0l = .3:[p(x):—3x+10+3x3—5x2,c:§}

-1
.4=[p(x)=8x2+4x+10x4+5x3—6,c=;}

.]:[b(x):x—3,a(x):x4—3x3+mx—9]
2=[b(x)=x+Lax)=mx +x' —4x" +x+4]
3=[b(x)=3x+4,a(x)=Tx—- 15+ 12x"+ 16 X + mx%, r=-3]

4=[b(x)=x-m,a(x)=x"—2x—-8,r=-5]
= [px)=x'+4x —dx—16] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"—8]
4=[p(x)=x"-81]
S=[p(x)=x"+10x +32x" +35x+6]
G6=[p(x)=x"—10x"+25x" - 36]
J=[p(x)=6x+17x"=3x-20]

L 8=[p(x)=6x"+17x —6x"—47x—30]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00036XX
Real02 for No.644202

No02 =

No03 =

d=[p(x)=x"-2x"-3x-1,c=3]
2=[p(x)=x"+5x+3x"=2,c=-2]

-1
NoOI =|.3= p(x)=—3x—2—8x3—3x2+3x4,c=ﬂ

1
.4:{p(x):—4x+2+6x4—3x3+4x2,c:5}

.]:[b(x):x—3,a(x):x4—4x3+mx+2x2+9]
2=[b(x)=x+2,a(x)=mx +x —2x = 5x— 18]
3=[b(x)=3x+4,a(x)==3x+3+9x + 12X +mx’, r=7]

.4:[b(x):x—m,a(x):x2— 11 x+25 r=-5]
d=[p(x)=x -3 - 16x+48] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"+125]
4=[p(x)=x"-1]
S=[px)=x"+11x +35x"+13x-60]
H=[p(x)=x"+3x —4x" - 10x—4]
T=[p(x)=15x+61 x*+52x+ 12]

4 3 2
L8=[p(x)=10x" —67x" +151x" =132 x+ 36]_
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXKXXKXKXXKKXXKKXKKXXKKXKKKXKKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00037XX
Real02 for No.644203

d=[p(x)=x"-2x"-2x+2,¢=2]
2=[p(x)=x'+x—4x" - 1,¢c=-3]

3
No0l = .3=[p(x)=4x4—9x2+2x+2,czﬂ

-4
.4=[p(x)=6x+15+9x4+18x3+8x2,c:?}

A=[b(x)=x- 1,a(x)=x4+mx+3x2—6]
2=[b(x)=x+3,a(x)=x"+3x +m—4x]
J=[b(x)=x—m, a(x):x2+8x+8,r:—7]
4=[b(x)=3x+4,a(x)=21+15x"+20x" + mx*, r=5]
I d=[p(x)=x=5x"—x+5] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"—125]
4=[p(x)=x"-81]
S=[p(x)=x"—18x"=25x+6]
6=[p(x)=x"+4x —6x"-36x—-27]
7=[p(x)=15x+68 x>+ 75 x + 18]

L8=[p(x)=16x"+32x"=21x"=37x+10].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00038XX
Real02 for No.644204

No02 =

No03 =

d=[px)=x"+5x+3x-2,c=1]
2=[p(x)=x"-x"+4x+2,c=-2]

2
No0l = .3=[p(x)=—1ox—2+9x3,c=ﬂ

-5
.4=[p(x)=9x3—15x2+6x4—6x—16,c:EJ

.]:[b(x)=x+2,a(x)=mx3+x4—5x2+5x+14]
2=[b(x)=x—-La(x)=x"+2x +m-5x]

No(2 = ; )
3=[b(x)=3x-2,a(x)=6x +8x +mx,r=2]
A4=[b(x)=x—m, a(x):xz—x—29,r: 1]
I d=[p(x)=x+x—dx—4] |
2=[p(x)=x"=34x"+225]
3=[p(x)=x"-1]
NoO3 4=[p(x)=x"-1]

S=[p(x)=x"+3x —4x" - 10x—4]
6=[p(x)=x"-8x+17x*+2x—-24]
J=[p(x)=4x +24x"+41 x + 15]

4 3 2
L.E=[p(x)=20x" +31x —42x" -43x+ 101
X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXKXKXKXKXKXKXX




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXME /2-6400104-00039XX
Real02 for No.644205

d=[p(x)=x"-4x+3x-1,c=2]
2=[p(x)=x"+4x’+2x"=2,c=-3]

4
NoOl = .3=[p(x)=9x4— 12x° +12x - 1ox—2,c=ﬂ

-5
.4=[p(x)=x+20+ 18x2+8x3,c=3}

A =[b(x)=x+2, a(x)=x4+2x3+mx+ 8]
2=[b(x)=x-3,a(x)=mx +x" +4x" +18]

No(2 = ) ;
d=[b(x)=2x-3,a(x)=8x—-T7x" +2x +m,r=2]
4=[b(x)=x-m,a(x)=x"—3x—-3,r=-5]
I d=[p(x)=x+2x"-9x—18] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—8]
NoO3 — 4=[p(x)=x"—-256]

S=[p(x)=x"+4x —6x" - 11x-2]
6=[p(x)=x"-9x"+22x*-32]
T=[p(x)=15x=37x*+17x+5]

4 3 2
L8=[p(x)=15x"+43° +16x* - 28 x — 16]]
):9,9,9:0.0.9.9.9.9.9.:0:0.9.9.9.9.9.9:9:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9.0.:0.0.9.9.9.9.9.:9.:0.0.9.9.9.9.9.0.:0.0.0.9.:9.9.9:0.0.0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/2-6400104-00040XX
Real02 for No.644206

d=[p(x)=x"-3x"+3x+5,c=3]
2=[p(x)=x"+x"+5x+1,c=-2]

5
NoOI =|.3= p(x)=6x4—x3—15x2—9x+20,c=§:'

-1
.4=[p(x)=—4x+3+8x2,c=ﬂ

Ad=[b(x)=x+ 1,a(x)=x4+x3+mx+5x2—5]
2=[b(x)=x-2,a(x)=x"+mx’—x—6]

No02 = 5 3
J=[b(x)=3x+Lax)=-11x"-7x+2+mx",r=3]
.4:[b(x):x—m,a(x):x2+5x+2,r:—4]
I d=[p(x)=x"+5x"—9x—45] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x"+64]
No03 = A4=[p(x)=2"~1]

S=[px)=x"-4x +3x"+2x-6]
GH=[p(x)=x"+2x=20x>— 66 x —45]
7=[p(x)=10x+39x +39x+10]

4 3 2
L8=[p(x)=10x"—21x* 46 x>+ 63 x — 18]
X [Page = 0020] XXXXXXXXXXKXXXXXXXXXXXKXXXXKXXKXKXKXXKXKXKXKXXXKXKXKXKXXXKXKKXKXKXKXXKKKKXKKKKKXKKK




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA /2-6400104-00041XX

Real02 for No.644207
d=[p(x)=x"+2x"—x-3,c=2]

2=[p(x)=x"+5+x"+3,c=-1]

-1
NoOI = .3=[p(x)=—8x+1+4x4+2x3,c=ﬂ

4
.4=[p(x)=12x4—16x3—9x2+6x+6,c:§}

.]:[b(x):x+3,a(x):x4+mx2+4x3+9]
NoO2 .2=[b(x)=x—1,a(x)4=x4+x33+mx—1]
d=[b(x)=3x+5ax)=9x +15x - 12x+m,r=3]
4=[b(x)=x-m,a(x)=x"—x—233,r=-3]
 I=[p(x)=x-3x-25x+75] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+64]
NoO3 = A=Ip(x) =x'~1]
S=[plx)=x -10x +35x"-50x+24]
6=[p(x)=x"-5x"+10x"—10x +4]
7=[p(x)=6x+7x"—43x—-30]
| 8=[p(x)=8x"—10x =59 x* +46 x + 15]]

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXXKXKXM4L /2-6400104-00042XX

Real02 for No.644208
d=[p(x)=x"+x —4x"=3,¢c=1]

2=[p(x)=x"—4x"=5x+5,c=-2]

-3
NoOI = .3:[p(x):4x2—14x+8x3+4,c=ﬂ

1
.4:{p(x):3x4—x3+6x+5,c:§}

.]:[b(x)=x+3,a(x):x4+3x3+mx+15]
Nol? — .2=[b(x)zx—2,a(x)=x42—2x2+m+4x]
I=[b(x)=x-m,a(x)=x"-3x-5,r=-7]
.4:[b(x):Zx—S,a(x):6x+4x3+4+mx2,r:—6]
= [p(x)=x-5x"—4x+20] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x—125]
No03 — .4:4[p(x)3=x4—6225]
S=[p(x)=x"+4x -14x" -36x+45]
GH=[p(x)=x"+3x —x-3]
J=[p(x)=12x=35x"—4x+3]

4 3 2
L8=[p(x)=4x +16x"+5x"—37x—-30]4
D010:0:0:0:0:0.0:0:0:0.010.0.0:0:0:0.0:0.0:0.0:0:0.0.0:0:0.0.0:0:0.0:00.0:0:0:0.0:0:0:0.0.:0:0.0.0:0:0.0:0:0.:0.0:0:0.0:0:0¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXXXXXXXXKXMAE /2-6400104-00043XX
Real02 for No.644209

d=[p(x)=x"-3x"=x"=2,¢=3]
2=[p(x)=x"+5+x+4,c=-1]

4
NoOI = .3=[p(x)=6x4—8x3+6,c=ﬂ

-3
.4=[p(x)=3x3—9x2+6x4—4,c=z}

.]:[b(x):x—l,a(x):x4—5x3—5x2+m]
2=[b(x)=x+3,a(x)=mx +x" +x+3]
3=[b(x)=2x—-1l,a(x)=-8x-2+4x" -2 +mx’, r=-6]

A4=[b(x)=x—-m, a(x):x2+2x—7,r:1]
L I=[p(x)=x+3x*-25x-75] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"—64]
4=[p(x)=x"-256]
S=[p(x)=x"=15x"=10x +24]
6=[p(x)=x"-5x-x"+23x-6]
J=[p(x)=10xX+9x* = 19x+6]

| 8=[p(x)=8x"+18x -3x = 17x—6]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00044XX
Real02 for No.644210

No02 =

No03 =

.]:[p(x):x4—2x3+x+5,c:2]
.2:[p(x):x4—x2—5x—5,c:-l]

2
NoOI =|.3 = p(x)=9x3+18x2+8x+6,c=ﬂ

5
.4={p(x)=—26x+11+8x2,c:5}

.1:[b(x)=x—1,a(x)=x4+2x3+mx—6]
2=[b(x)=x+3,a(x)=x"+4x +3x" +m]

No02 = 2
J=[b(x)=x—m,a(x)=x"-9x+23,r=3]
.4:[b(x):3x—l,a(x):—4x2—6+mx3,r=—6]
= [px)=x+4x -x-4] |
2=[p(x)=x"-34x>+225]
3=[p(x)=x"+125]
Nob3 — 4=[p(x)=x"-625]

S=[px)=x"+4x +3x"-2x-6]
G6=[p(x)=x"+x —25x"=37x+60]
J=[p(x)=15x =28 x" = 13x+30]

4 3 2
L8=[p(x)=6x +5x —12x" —5x+6]]
X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKKXKXKXXKKXXKKXKKXXKKXKKKXKKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXXXXXXXKXKXME /2-6400104-00045XX
Real02 for No.644211

.]:[p(x):x4—x3—5x2+4,c:2]
2=[p(x)=x"+3x+x"=1,c=-3]

5
No0l = ,3:[p(x)=—27x3+20x2+9x4—3,c=§}

-3
.4={p(x)=6x2+7x+4x4+6x3,c=3}

d=[b(x)=x+ l,a(x):x4—x3+m+x]
2=[b(x)=x-3,a(x)=x"+mx* —4x—24]

No02 = ) ;
d=[b(x)=2x+3,a(x)=10x"+8x =3 +mx,r=06]
4=[b(x)=x-m,a(x)=x"+9x+21,r=1]
I d=[p(x)=x =3 —4x+12] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"-1]
NoO3 — 4=[p(x)=x"-81]

.5=[p(x):x4—x3—8x2—2x+4]
6=[p(x)=x"=5x"—16x>+ 68 x — 48]
T=[p(x)=9x"+33x"+34x+8]

L8=[p(x)=15x"—46x"—19x* + 74 x — 24].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00046XX
Real02 for No.644212

d=[px)=x"+x -2x"+4,¢c=1]
2=[px)=x"-2x"+x+4,c=-2]

-5
NoOI =| .3 = p(x)=—3x—25+2x2+1ox4+25x3,c=ﬂ

.4=[p(x)= 12x*-10x+15x"=20x" — 11,c:ﬂ
.]:[b(x):x+3,a(x):x4+mx2+2x3—9]
2=[b(x)=x-Lax)=mx +x —4x" +x+2]
3=[b(x)=x—m,a(x)=x"—10x+29, r=5]
.4=[b(x):2x+l,a(x):10x4+5x3—8x2—7+mx,r:—3]
I d=[p(x)=x—d4x —x+4] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"-1]
4=[p(x)=x"-256]
.5:[p(x):x4—3x3+x2—x—6]
GH=[p(x)=x"+3x =21 x*-43x+60]
7=[p(x)=16x"+56 x+53x+10]

4 3 2
LE=[p(x)=12x +7x —87x" —118x —-241]]
X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXXXKXXKXXXXKXKXXXKXKXKKXX

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXXXXXXXKXKXME /2-6400104-00047XX
Real02 for No.644213

d=[p(x)=x"-4x+2x"+4,¢=3]
2=[p(x)=x'"-2x"+3x-2,c=-1]

-1
No0l = _3:{p(x):—3x3—4x2+ 10x4—8x—9,c=ﬂ

4
.4=[p(x)=—16x2+ 12x° + 1,c=§}

.]:[Mx):x+l,dx):x4+x$+mx+4]
2=[b(x)=x-3,a(x)=x"+mx*=5x +9]
.3:[Mx):Sx—&aUﬂ:9x+6x{hf—12f+ﬁmr:5]

.4:[ux)=x—nudx):x2—4x+I,W:Q]
= [p(x)=x—2x"-25x+50] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"—125]
4=[p(x)=x"-16]
S=[px)=x"+9x" +28x*+34x+12]
GH=[p(x)=x"-2x" =21 x*+22x+40]
T=[p(x)=20x-73x>+41x-6]

L8=[p(x)=10x"—x"—82x* +43 x+30]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00048XX
Real02 for No.644214

No02 =

No03 =

d=[p(x)=x"-2x"-2x"+4,¢=3]
2=[p(x)=x"+5x"+5x+3,c=-1]

5
NoOI =|.3= p(x):—18x3+20x2+4x4+8x—23,C:E:'

-5
.4=[p(x):9x3+15x2+12x+22,c:?J

.]:[Mj):x+I,Mx):nmf+x4+5x2—2x—8]
2=[b(x)=x-3,a(x)=x"-3xX +mx+9]

No02 = 5 ,
3=[b(x)=3x+4a(x)=3x"+18x+4+mx", r=-4]
A4=[b(x)=x—m,a(x)=x"+9x+14,r=-6]
| I=[p(x)=x-5x"—4x+20] ]
2=[p(x)=x"-25x"+ 144]
3=[p(x)=x"+64]
NoO3 4=[p(x)=x"-81]

S=[p(x)=x"-5x"+22x-12]
6=[p(x)=x"+x —27x"=25x+50]
J=[p(x)=8x—18x* =27 x +27]

4 3 2
L8=[p(x)=10x"—-23x"—2x"+33x—18]]
X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXXKKXKXXKXKXXKKXKXKKXKKXKKKXKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA /2-6400104-00049XX

Real02 for No.644215

d=[p(x)=x"-5x+4x"+1,c=2]
2=[p(x)=x"+2x"+2x-3,c=-1]

1
No0l = .3=[p(x)=8x—9+6x4—3x3,c=ﬂ

-4
.4=[p(x)=6x3+14x2+17x+17,c=?J

.]:[b(x):x—3,a(x):x4—2x3+m—5x]
2=[b(x)=x+2,a(x)=x'+mx*+5x—18]

No02 = )
d=[b(x)=x—-m,a(x)=x"+x—-45,r=-3]
4=[b(x)=2x-3,a(x)=8x - 10x"+4+mx,r=4]
= [p(x)=x-3—4x+12] |
2=[p(x)=x"—34x"+225]
3=[p(x)=x"=27]
NoO3 - 4=[p(x)=x"—-256]

S=[p(x)=x"+7x+16x + 14 x+4]
6=[p(x)=x"—9x +21 x*+x—-30]
T=[p(x)=12x" +19x* - 5x - 12]

L8=[p(x)=8x*—42x’ +65x" 21 x— 101

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXM4L /2-6400104-00050XX

Real02 for No.644216

d=[p(x)=x"-x"—4x"—1,¢=3]
2=[px)=x"-5x"=2x-1,c=-2]

-1
NoOI =|.3= p(x):12x4+4x3—6x2—2x+5,c=ﬂ

2

3
.4:[p(x):6x4—9x3+2x2+3x—2,c:—}

A =[b(x)=x+2, a(x)=x4+mx2+4x3—3x+ 10]
2=[b(x)=x-3,a(x)=mx +x —x"— 18]
3=[b(x)=x—m,a(x)=x"—11x+34, r=4]

.4:[b(x):2x+5,a(x):—9+3x3—5x2+2x4+mx,r:—4]
I d=[p(x)=x+x—16x—16] |
2=[p(x)=x"=5x"+4]
3=[p(x)=x"+64]
4=[p(x)=x"-1]
S=[p(x)=x"+x —16x"+11x+3]
6=[p(x)=x"—10X+17x"+52x-60]
7=[p(x)=20x"+37x = 15x— 18]

4 3 2
L8=[p(x)=12x"-41x —18x" + 89 x + 301
X [Page = 0025] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKKXXKKXXKKXKKXXKKXKKKXKKXKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00051XX
Real02 for No.644217

d=[p(x)=x"-5x"+3x+2,¢=2]
2=[p(x)=x"-x"—2x-4,c=-1]

5
No0l = .3:{p(x):—23x3+5x2+12x4—6,c:§}

-5
-4=[P(x)=23x3—5x2+10x4+6x+13,c:5}

.]:[b(x):x+3,a(x)=x4+mx2+3x3—5x— 15]
2=[b(x)=x-2,a(x)=x'—X +mx+2x" - 16]

No(2 = 5
d=[blx)=x-m,a(x)=x"-6x—-2,r=5]
4=[b(x)=2x+3,a(x)=-8x+6x +9x"+m, r=3]
I d=[p(x)=x =3 —4x+12] |
2=[p(x)=x"—20x"+64]
3=[p(x)=x"+64]
NoO3 - 4=[p(x)=x"—625]

.5:[p(x)=x4—x3—27x2—27x+54]
6=[p(x)=x'"+4xX +7x" +8x+4]
J=[p(x)=15x =67 x>+ 61 x +15]

| 8=[p(x)=15x"+76 x> +133 x> + 92 x + 201
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00052XX
Real02 for No.644218

d=[p(x)=x"-2x"—4x"=3,¢=3]
2=[p(x)=x'"-2x"+4x+4,c=-1]

5
NoOI =|.3= p(x)=3x2—14x+20+15x4—25x3,c=ﬂ

-5
.4=[p(x)=16x—11+28x2+8x3,c=ﬂ

A=[b(x)=x+ l,a(x):x4—x3+m—2x]
2=[b(x)=x-3,a(x)=x"—2x +mx—3x"]

No02 = )
d=[b(x)=x-m,a(x)=x"—-11x+29,r=-1]
4=[b(x)=2x—- l,a(x):x+6x3—3+mx2,r:—3]
I d=[p(x)=x+x—dx—4] |
2=[p(x)=x"=34x"+225]
3=[p(x)=x"—64]
NoO3 4=[p(x)=x"-1]

S=[p(x)=x"-8x"+19x*—16x+4]
GH=[p(x)=x"—6x +x"+24x-20]
J=[p(x)=8x+2x"—43x—30]

4 3 2
L8=[p(x)=8x —10x" -39x"+31x+10]]
X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKX KKK KX KX KXKKXKXKK




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKXXKXXKXKXKXMA /2-6400104-00053XX

Real02 for No.644219

No0Ol =

d=[p(x)=x"-2x"+2x+5,c=2]
2=[p(x)=x"+3x=3x-4,c=-3]

2
.3=[p(x)=—13x3+6x2+6x4—5,c=ﬂ

No02 =

4

No03 =

-5
.4=[p(x)=2x2+5x+4x4+10x3—6,c=;}

.]:[b(x):x—3,a(x):x4—2x3—2x2+m]
2=[b(x)=x+1a(x)=mx +x' +2x"—x—4]
3=[b(x)=x—m,a(x)=x"—13x+38, r=-4]
=[b(x)=2x-3,a(x)=4x —4x" - T+mx,r=2]
[ I=[p(x)=x-5x"—16x+80] |

2=[p(x)=x"—25x"+144]
3=[p(x)=x+1]
4=[p(x)=x"—-256]

S=[p(x)=x"-=7x+18x" =22 x+12]

6=[p(x)=x"+3x—7x" =27 x— 18]
7=[p(x)=8x=30x"+13x+15]
L8=[p(x)=20x"-31x" - 8x*+31 x—12]]

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXKXKXM4L /2-6400104-00054XX

Real02 for No.644220

No0l =

No02 =

.]:[p(x):x4—5x3+4x+5,c:1]
2=[p(x)=x"+3x+x"+5c=-2]

-5
3= p(x)=3x+23—2x2+4x4+10x3,c=3:'

4
.4:{p(x):—6x+3—22x3+8x2+12x4,c:§}

.]:[b(x):x+3,a(x):x4+mx2+2x3+9]
2=[b(x)=x-Lax)=mx +x" —5x+3]
3=[b(x)=x-—m,a(x)=x"—4x-2,r=3]

4=[b(x)=3x—-4,a(x)=12x+9x" -6 —8x"+m, r=3]

No03 =

d=[p(x)=x+2x"—16x-32]
2=[p(x)=x"=5x"+4]

3=[p(x)=x—125]
4=[p(x)=x"-1]

.5:[p(x)=x4+2x3+x2+4x+4]

G6=[p(x)=x"+6x +3x"—26x—24]
J=[p(x)=10x =7x* =37 x-20]
L 8=[p(x)=15x"-23x" - 11x*+23x—4]]

X [Page = 0027] XXXXXXXXXXXXXXXXXXKXXXXXKKXXXXKXKXXXXKKXKXXXKKKXXXKXKKXXXKKKKXKKKXK



);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXKXXKXXKXKXKXMA /2-6400104-00055XX

Real02 for No.644221

d=[p(x)=x"-x"=x"+5,¢c=1]
2=[p(x)=x"+2x"—2x-3,c=-2]

5
Amo{:.3=[mx):6x4—x$—15f4¢hc:g}

-5
.4={mﬁ)=3x—4+2f+7xac=§1

.]:[Mx):x+2,dx):x4+3xy+mx+4]
2=[b(x)=x-La(x)=x'+x =2x"+m]
.3:[Mx):x—nudﬁ):x2+6x—lQr:—3]
4=[b(x)=3x+4,a(x)=6x"-9x" = 12x—4+mx, r=-4]
= [p(x)=x-3x—dx+12] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"—8]
A=[p(x)=x"-1]
S=[p(x)=x"-3x-8x+26x—12]
G=[p(x)=x"—=x"—11x"+9x + 18]
7=[p(x)=15x+56 x>+ 60 x + 16]

4 3 2
LE=[p(x)=6x" —x" —49x +29x+ 15].
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKXKXMA /2-6400104-00056XX

Real02 for No.644222

No02 =

No03 =

d=[p(x)=x' - +2-1,c=2] |
2=[p(x)=x"+3x"+4x+1,c=-3]

2
NoOI =|.3 = p(x)=3x4+2x3—12x—9,c=?:|

3
.4:{mx):6x2—9x—l,c:5}

.]=[Mﬁ):x+l,ﬂx)=x4+nax+2x2—8]
2=[b(x)=x-3,a(x)=x"+mx’=5x +9]
3=[b(x)=x—m,a(x)=x"+10x+ 16, r=-5]
4=[b(x)=2x-5,a(x)=4x"-10x+4x" —10x" +m, r=-6]
I d=[p(x)=x—2x"=25x+50] |
2=[p(x)=x"=5x"+4]
3=[p(x)=x"+64]
4=[p(x)=x"-81]
S=[px)=x"+5x-10x* =20 x + 24]
H=[p(x)=x"+2x -8x" = 19x—-6]
J=[p(x)=10x" =53 x" + 64 x + 15]

4 3 2
| 8=[p(x)=15x"+83x° + 141 ¥* + 85x + 12].
X [Page = 0028] XXXXXXXXXXKXXXXXKXXXXKXXKXKXXXKXXKXKXKXXKXKKXKXXXKXKKXKXXKKXKKXKXKXXXKKKKXKKKKKKKXK

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6400104-00057XX
Real02 for No.644223

d=[p(x)=x"-x"+2x+2,c=2]
2=[p(x)=x"+3x"+3x-1,c=-3]

-5
No0I = ,3:[p(x):4x4+12x3+5x2—2x—1,c:;}

4
.4=[p(x)=—6x+7+6x4—8x3,c=gJ

A=[b(x)=x+ l,a(x):x4+x2+m+2x]
2=[b(x)=x-3,a(x)=x'+mx’=3x +x-3]
3=[b(x)=2x+3,a(x)=6x"+9x —8x*—6+mx,r=-6]
A4=[b(x)=x—-m, a(x):xz— 11x+31,r=1]
I J=[p(x)=x -~ 16x +16] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+27]
4=[p(x)=x"-81]
S=[px)=x"+2x +x+2]
H=[p(x)=x'-x"—12x"—4x+16]
7=[p(x)=10x =37 x>+ 40 x — 12]

L8=[p(x)=10x"—19x =25+ 19 x + 15]_
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00058XX
Real02 for No.644224

No02 =

No03 =

d=[p(x)=x"-4x"+3x+3,c=2]
2=[px)=x"=5x"+x+3,c=-1]

-4
NoOl=| 3= p(x)=—2x3—8x2+3x4—2,c=;}

3
.4=[p(x)=6x—11—9x3+9x2+2x4,c:ﬂ

.]=[b(x):x—2,a(x)=x4+2x2+m—4x]
2=[b(x)=x+Lax)=mx +x +4x+38]

No02 = )
I=[b(x)=x-m,a(x)=x"+5x—-13,r=-7]
4=[b(x)=3x+2,a(x)=—6x-104+9x + mx’, r=-2]
I d=[p(x)=x+5x"~9x—45] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x"-38]
No03 — 4=[p(x)=x"-16]

S=[p(x)=x"+x —16x"+11x+3]
GH=[p(x)=x"+3x =21 x*-83x-60]
7=[p(x)=20x" - 13 x"—45x — 18]

4 3 2
L8=[p(x)=12x"=-25x"—-24x"+ 67 x—30]4
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXME /2-6400104-00059XX
Real02 for No.644225

d=[p(x)=x"=5x"+x+5,c=2]
2=[p(x)=x"+3x+2x"+2,c=-3]

2
No0Ol = .3:{p(x):3x2—2x—5,c:§}

-1
.4=[p(x)=10x4+5x3+6x2+5x+8,c=;}

A =[b(x)=x+2, a(x):mx3+x4—x2+ 12]
2=[b(x)=x- l,a(x):x4+mx2+x3+5x—7]

No(2 = )
d=[bx)=x-m,a(x)=x"+10x+22,r=1]
4=[b(x)=2x+3,a(x)=10x"+ 15 =6 x+m, r=>5]
I d=[p(x)=x-2x"—9x+18] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"—64]
NoO3 — 4=[p(x)=x"-16]

S=[p(x)=x"-5x-13x>+53x+60]
Gb=[p(x)=x"-2x"-12x*-Tx+2]
7=[p(x)=9x —19x—-10]

L8=[p(x)=12x"+23x" =28 x* =37 x+30].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00060XX
Real02 for No.644226

.]:[p(x):x4—x3+5x—3,c:1]
2=[p(x)=x"+3x—2x+4,c=-3]

-3
NoOI =|.3= p(x)=2x+18—4x2+6x4+9x3,c=ﬂ

4
.4:{p(x):3x+15x4—20x3,c:§}

.]:[b(x):x+3,a(x):x4+4x3+3x2+m]
2=[b(x)=x-Lax)=mx +x +x"+1]
3=[b(x)=x—m,a(x)=x"—x—-31,r=-1]
4=[b(x)=3x+5,ax)=29x+6x +10x + 10+ mx’, r=-5]
| d=[p(x)=x"+4x"—4x-16] ]
2=[p(x)=x"—10x"+9]
3=[p(x)=x—125]
4=[p(x)=x"—625]
S=[p(x)=x'—6x-7x*+36x+36]
G=[p(x)=x"-4x +2x"+5x-2]
J=[p(x)=8x"+38x"+47 x + 15]

4 3 2
L8=[p(x)=15x"+86x"+107x"— 60 x —36]]
X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKXKXKKXKXKKXKKXKKKXKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00061XX
Real02 for No.644227

d=[p(x)=x"-5x"-x-4,c=1]
.2=[p(x)=x4—x3—x2— I,c=-2]

1
No0l = ,SZ{p(x):—6x+7+3x4+8x3—3x2,c:§}

-3
.4=[p(x)=2x4+3x3—4x—lO,c=EJ

A=[b(x)=x- 1,a(x)=mx3+x4+x2+x—3]
2=[b(x)=x+3,ax)=x"+3x +mx—6]
3=[b(x)=x—m,a(x)=x"+10x+21, r=-3]
4=[b(x)=3x+5,a(x)=9x+9x"+21 X’ +10x* + m, r=3]
= [p(x)=x+2x*-25x-50] |
2=[p(x)=x"—20x"+64]
3=[p(x)=x"+38]
4=[p(x)=x"-16]
S=[px)=x'-x*+4x-4]
G6=[p(x)=x"-2x"=31x*+92x-60]
7=[p(x)=10x+51 x>+ 77 x + 30]

| 8=[p(x)=6x"—11x=20x"+44x—16]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00062XX
Real02 for No.644228

No02 =

No03 =

d=[p(x)=x"-3x"=5x+2,¢=3]
2=[px)=x"-x"-3x-1,c=-2]

5
NoOI =|.3 = p(x)=—24x2+15x+9x3+3,c=§:|

-3
.4:[p(x):2x3+x2—5x—4,c:z}

A =[b(x)=x+2, a(x)=x4+2x3+m—4x]
2=[b(x)=x-La(x)=mx +x +x°+3]

No(2 = ; A 5
J=[bx)=2x+3,a(x)=7Tx +10x -3 +mx",r=-3]
4=[b(x)=x—-m, a(x):—4—3x+x2,r:—6]
| d=[p(x)=x—d4x —x+4] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+125]
No03 - 4=[p(x)=x"—1]

S=[p(x)=x"—6x —5x"+42x+40]
H=[p(x)=x"+3x +x"+x—-6]
T=[p(x)=9x+9x - 16x +4]

4 3 2
L 8=[p(x)=10x" - 17 -12*+ 13x-2]]
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6400104-00063XX
Real02 for No.644229

d=[p(x)=x"-4x"+2x+5,c=2]
2=[p(x)=x"+x —5x"—4,c=-3]

3
NoOl = ,3:{p(x):11x—10—2x2+2x4—3x3,c=ﬂ

-2
.4=[m@)=3x+4+22f+8x2+Hx{c=§}

.]:[Mﬁ):x+2,dx):x{+mx2+5x—22]
2=[b(x)=x-3,a(x)=x"-3xX +m-5x]
3=[b(x)=2x—lLa(x)=4x"+8x'—4x-2+mx’, r=-4]
4=[b(x)=x-m,a(x)=x"-2x-8,r=7]
d=[p(x)=x"-2x-9x+18] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+8]
4=[p(x)=x"-256]
S=[p(x)=x"-5x"-10x-6]
6=[p(x)=x"-x=25x"+37x+60]
T=[p(x)=12x +25x" —4x—-12]

L 8=[p(x)=10x"+17x =52x*—41x—6]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6400104-00064XX
Real02 for No.644230

No02 =

No03 =

d=[p(x)=x"-3x+3x*-2,¢c=2] |
2=[p(x)=x"+5x+5x"+2,¢c=-3]

)
NoOI =|.3 = p(x)=—6x—1+3x3+2x2,c=ﬂ

1
.4=[p(x)=9x—4x2+4x3,c:ﬂ

.1=[Mﬁ):x—3,ﬁx):mx3+x{—3x—18]
2=[b(x)=x+La(x)=x"-x —4x"+m]

No02 = ,
JI=[b(x)=x—m,a(x)=x"+x-24,r=06]
4=[b(x)=2x—-1a(x)=—9x +10x* =3 +mx’, r=-3]
I d=[p(x)=x+x-9x-9] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x"+27]
NoO3 4=[p(x)=x"-1]

S=[p(x)=x"-9x +27x*-29x+6]
H=[p(x)=x"+14x +65x"+112x+60]
T=[p(x)=6x—7x"—43x+30]

4 3 2
L.8=[p(x)=10x"+33x —10x" — 69 x —36]
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